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Parer 11

(HoME SCIENCE)

1. Pigment responsible for bright red colour of
meat is

(A) Metmyoglobin
(B) Haemoglobin
(C) Myoglobin

(D) Oxymyoglobin

2. Theoptimum temperature for yeast fermentation
is
(A) 60°F
(B) 100°F
(C) 85°F
(D) 72°F

3. F value in TDT curve is referred to time in
minute required to kill all the microorganism at

(A) 250°F
(B) 350°F
(C) 129°F
(D) 100°F

4. What is the aim of ‘Janani Suraksha Yojana’?
(A) Protection from sexual exploitation
(B) Safe motherhood intervention
(C) Prohibition of girl child marriage
(D) Prohibits female foeticide

5. Which one of the following is not permitted for
ripening of fruits?

(A) Smoke

(B) Acetonitrile
(C) Ethylene gas
(D) Calcium carbide

1. TIRACS Tegs sl A0S G Wil G (Pigment)
@ ?
(A) GIGIGICaNRE
(B) fecmeafa
(C) weieana
(D) SR

2. 6 (FIZF TF (Yeast fermentation)-a SoT&
i@l (Optimum temperature)—

(A) 60°F
(B) 100°F
(C) 85°F
(D) 72°F

3. TDT curve-4 F value I50S @RIT G132 TNH
(Time in minute) T AT TS GRYF @S FAF
T Siowal

(A) 250°F
(B) 350°F
(C) 129°F
(D) 100°F

4. Gl T QG [ 5T 2
(A) T &8 (sexual exploitation) CCF
(B) Ta=tisin soecs AfFioe i
(C) ferl @z @ 1
(D) i 2oyl v 1

S e

5. T PR T WElike @t g iy
(permitted) «?

(A) =

(B) SOIFTCHINRGIZeT
(C) BRI a5

(D) &I FTT
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6. Total phenolics component of a food can be
determined by

(A) Folin-Ciocalteu reagent
(B) Lowry reagent

(C) Anthrone reagent

(D) Molisch reagent

7. Monosaccharide heatedin
leads to formation of furan derivatives.

solution

(A) strong alkaline
(B) strong acidic
(C) weak alkaline
(D) weak acidic

8. The cell wall of Gram positive bacteria is
charged and is conferred by

(A) positively, teichoic acid
(B) negatively, teichoic acid
(C) positively, aspertic acid
(D) negatively, aspertic acid

9. Margarineis an example of
emulsion.

type of

(A) oil in water
(B) water in oil
(C) air in water

(D) water in air

10. Retrogradation of starch refers to
(A) ordered, amorphous state
(B) unordered, amorphous state
(C) ordered, crystalline state

(D) unordered, crystalline state

X—4

6. T GoIfFS e[z (ZFeleT SO &) (Total phenolics
component) €z T =7 FEERe @ e w4
(Reagent) w@e

(A) TE-NRRPEIDE (Folin-Ciocalteu) Fiaters
(B) #efs fRacers (Lowry reagent)

(C) Shieei f§4ts % (Anthrone reagent)

(D) el Raters (Molisch reagent)

7. (EPTFES 70 Ted (A I
(©e6® (Furan derivative) (ofd 33 |

(A) fe=et =
(B) *Ifeiielt =nfe
(C) e I
(D) 71 wifes

o

8. oI «fEbe WG @Rtk
HIEE @31 77l 2V |

(A) “ifae, Gt st
(B) @ailbe, ek wyitie
(€) ~if&fs, srme=ifes =nifte
(D) @Tealoe, symenfs s

9. T =1 @36
TuiEEe |

(A) T (O
(B) (oG &
(C) &t R
(D) AT T

10. G99 (Starch)~93 (F@ICATE* (@RT fFferfas
@ AR ?

(A) r=ips, fSiae=El (ordered, amorphous
state)

(B) fa=ri9729, =119 @192l (unordered,
amorphous state)

(C) m*iFe, o 5l (ordered, crystalline
state)

(D) w2, = {bF <zl (unordered, crystalline

state)




11. A person having kidney transplant procedure
recently, should regulate the intake of

(A) Proteins

(B) Fats

(C) Vitamins

(D) Carbohydrates

12. Which of the following is a major constituent of
Teichoic acid?

(A) Mannose

(B) Sucrose

(C) Dipicolonic acid
(D) Ribitol

13. Which of the following is responsible for bright
green colour of leafy vegetables?

(A) Oil soluble chlorophyll
(B) Water soluble chlorophyll
(C) Oil insoluble chlorophyll
(D) Acid soluble chlorophyll

14. A research group is appointed to study the age-
group based users for a ‘Friend-book’ social app. in
android phones. The method they are going to follow—

(A) Aerial sampling
(B) Quota sampling
(C) Cluster sampling
(D) Digital product sampling

15. Sustainable development goals excludes the
fact of:

(A) zero hunger

(B) quality education

(C) sustainable digital life

(D) affordable and clean energy

X-5 23-11

11. 3§ dfogise a1 Jfex e

fazel 1 Bfve |
(A) &I
(B) sffeom W=
(C) febifim
(D) SIi=Regs

12. (IR SiFTe-a3 361 Soimia T @ 2
(A) Jitate (Mannose)
(B) &% (Sucrose)
(C) it =niPTe (Dipicolonic acid)
(D) e (Ribitol)

13. OSSR 7R (Leafy vegetables) S 7qer
J0efa &y famfarfs i it e

(A) COG TR @Icfre
(B) O aw il
(C) (ST SWRaNT GFIcifre]
(D) S TR0 GIRIRRe

14. 93T %I@7F 7 “Friend-book’ FIs<F @6 social
app.—43 android (I TS TGS IR 70 IS T2 |
Fefiesler St @ wfe S= I9g7 F9E= 2

(A) afzet sr=sife

(B) GBI yrnifers

(C) FFBIF A=Afere

(D) TEfenrs (2ieis e

15. AGEIA  (TTOATND  (Sustainable

Development)-43 &7 f8feiioslr s @b 0t
AT T2

(A) EIGIRARGIES
(B) @I @@=
(C) A= fEfetns =iz

(D) SIS SIS el Gaifer
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16. Which of the following is not a proper class of
labelling?

(A) Informative labels
(B) Care labels

(C) Lottery labels
(D) Nutrition labels

17. Certification employed on agricultural products
in India, assuring that they confirm to a set of standards
approved by Directorate of Marketing and Inspection

is:
(A) 1ISO
(B) ISI
(C) AGMARK
(D) FSSAI

18. ECOMARK is a certification mark issued by
to products confirming to a set of standards
aimed at the least impact on the ecosystem.

(A) Bureau of Indian Standards
(B) International Organization for Standards
(C) Indian Standards Institution

(D) Ministry of Human Resource

19. Basic components of family budget will not
include which of the following?

(A) Transportation
(B) Health care
(C) Child care
(D) Gadget care

20. The core values, beliefs and assumptions that

are widely shared by members of an organization are
known as:

(A) Organizational Climate
(B) Organizational Culture
(C) The Pervading Atmosphere
(D) The Mission Statement

X-6

16. fsERe sl s @Hb bresaca s
ZPCen T ¢

(A) SAPTERIT Direwad
(B) To% foferesae

(C) =oifs foferewael

(D) sifefui ez

17. %1 @ [f*oe w51, ©Re 2bfere FRersy
TArsfe] fEREE0 o ACHHR G SACHIHER Tawes
(TG BTE—

(A) Wi @78

(B) ™12 @ o1

(C) wNF

(D) aF &7 @3« B3

18. fsfioalm St @W F$F 2er= TRwNE
X[ 2l e, @ “ba aAgecEs 8w WY geiq
(CRPCeT

(A) IR T BT FoSTH

(B) TORIGCANE SRANTBCSHI STF FBISICH
(C) I IBrreres TGS

(D) Fifee1lG = 2T Rt

19. Tafeiesem i @t iR aEea

pd

TGS 7 ?
(A) ~If<es
(B) =gy ~ifewi
(C) fot wAfawe
(D) sirites 2o

20. (G HAEF AT = WIPRFSICT wlol Il o
5, T @) S ffefie F e ofbe?

(A) ARSI A0l (Organizational Climate)
(B) ARG 5{2?% (Organizational Culture)
(C) R*g® 7A@l (The Pervading Atmosphere)

(D) T3« R (The Mission Statement)



21. Polyphagia refers to
(A) anxiety and mental health instability
(B) frequent urination
(C) increased albumin excretion through urine
(D) elevated hunger

22. Respiratory Quotient (RQ) falls in all the
following conditions, except

(A) Diabetes mellitus
(B) Acidosis
(C) Starvation
(D) Febrile condition

23. Red colour of strawberries is due to presence of
(A) Anthocyanin
(B) Xanthophylls
(C) Carotene
(D) Flavonoids

24. Which one of the following microorganisms is

not associated with ropy or stringy fermentation of
milk?

(A) Alcaligenes viscolactis
(B) Enterobacter aerogenes
(C) Lactobacillus plantarum
(D) Klebsiella oxytoca

25. Bread staling is due to
(A) Starch retrogradation
(B) Microbial spoilage
(C) Gelatinization

(D) Caramelization

X-7 23-11

21. “sAferifemar-a o ==
(A) 7H*5BIaT QIR T FICZ SRR
(B) QAN Tyt
(C) ra & sifd=ie spEgfea e
(D) Sfeiie =l

22. fsfeiiRewfes Wy @wba e WE 7E
(Respiratory Quotient) (Il O TS w7 ?
(A) Diabetes mellitus
(B) Acidosis
(C) Starvation
(D) Febrile condition

23. ZRIE &0 A6 T 2 A6F Al (I 2
(A) SOICBPRIES (Anthocyanin)
(B) el=caifzret (Xanthophylls)
(C) I (Carotene)
(D) zFicela@e™ (Flavonoids)

24, fwfEResfem St @i S9ERft 9 ropy @3
stringy lfe 2lf@R SIiaze ¢ =1 2

(A) Alcaligenes viscolactis
(B) Enterobacter aerogenes

(C) Lactobacillus plantarum
(D) Klebsiella oxytoca

25. GO P 2A1 (oG S (e e’ w2
(A) CISNER @G
(B) GlA9ute #i5w
(C) femnfbmizrema
(D) FIRATEAZCEHI
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26. The key microbe used for preparation of Blue
cheese is

(A) Penicillium roqueforti
(B) Lactobacillus acidophilus
(C) Streptococcus lactis

(D) Brevibacterium linens

27. is also called fruit sugar which is not
found in starch.

(A) D-glucose
(B) D-galactose
(C) D-mannose
(D) D-fructose

28. bacterium is commonly found on
leaves of plants of the cabbage family, produces a
polysaccharide, in fermentation vats and is widely
used as a food gum.

(A) Sphingomonas colocasiae
(B) Sphingomonas elodea
(C) Xanthomonas campestris

(D) Sphingomonas solaris

29. Intermediate Moisture Foods (IMF) contains a
moisture percentage of:

(A) 40-50
(B) 10-20
(C) 10-40
(D) 20-50

30. For food application, the most commonly used
microwave frequencies are in between

(A) 2050 MHz and 1200 MHz
(B) 2450 MHz and 915 MHz
(C) 850 MHz and 640 MHz
(D) 2010 MHz and 440 MHz

X-8

26. (@I 3 G T e Cofire Iz 22
(A) Penicillium roqueforti
(B) Lactobacillus acidophilus
(C) Streptococcus lactis

(D) Brevibacterium linens

27. 5 §F G A3 A T B
(&7 *%41) FeT! 2T, T RS (Starch)-@ SheTt AT =1 |
(A) -z
(B) fE-anetiwiore
(C) TS

(D) fe-gae

28. S AeNan Sfensfern Wiy AbfErewia
Tolfze PRGER olTe Az I8+t
(vat) IZ9F1 (polysaccharide) Sesiive 3 @ T
1 (food gum) GIZ9 2 |

(A) Sphingomonas colocasiae

(B) Sphingomonas elodea
(C) Xanthomonas campestris

(D) Sphingomonas solaris

29. THRNEES TEH6E T (IMF)-9 Sz sied
*[©I* (Moisture percentage) 21—
(A) 40-50
(B) 10-20
(C) 10-40
(D) 20-50

30. QT AYRTS 2 IO VBT STRS ST
Egl

(A) 2050 MHz €<% 1200 MHz
(B) 2450 MHz €3¢ 915 MHz
(C) 850 MHz @< 640 MHz
(D) 2010 MHz @< 440 MHz



31. Cereals are deficient in
(A) Methionine
(B) Tryptophane
(C) Leucine
(D) Lysine

32. Sugarcane residue is called
(A) Molasses
(B) Bagasse
(C) Cane tops
(D) Filter muds

33. When a Solution of caustic soda is used for
peeling of fruits and vegetable, the process is called:

(A) Flame peeling
(B) Abrasive peeling
(C) Lye peeling

(D) Hot water peeling

34. Curing of meat and fish is done using
(A) Sorbates
(B) Nitrites
(C) Sulphates
(D) Propionates

35. Strength of Brine is measured using
(A) Refractometer
(B) Salinometer
(C) Hydrometer
(D) Lactometer

X-9 23-11

31. O wro %7 (Cereals) fFfeifds &w
Toiwaelfbg wre (et e e

(A) fafeaiza (Methionine)
(B) T (Tryptophane)
(C) feref™ (Leucine)

(D) =3P (Lysine)

32. WS 391 S #19 @ 9ol (Residue) #ItS
A O I

(A) & (Molasses)

(B) =t gt (Bagasse)

(C) =M% 9tz Tifeiat (Cane tops)
(D) o e (Filter muds)

33. T @ e (AP RWOIEHR (Peeling) &= T4
S TA FO0F GG TS T O OIS I

(A) &9 fIfeRR (Flame peeling)

(B) SOI@PT® fifelk (Abrasive peeling)
(C) =1 faifere (Lye peeling)

(D) 25 S0 IR (Hot water peeling)

34, ST @ Wed [FBfR (Curing) Face fgfefie
(I T 920 27 ?

(A) JEC5HA (Sorbates)

(B) 2G5 (Nitrites)

(C) oA (Sulphates)

(D) (2SR (Propionates)

35. SR G *If @ A1 2 (I I0F AN 2
(A) RFIFGEIRGE (Refractometer)
(B) MMt (Salinometer)
(C) o= (Hydrometer)
(D) FGIfNGE (Lactometer)
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36. Lateral communicationin an organization takes
place through

(A) information passing between different
departments and functions.

(B) information passing to higher authority.
(C) information passing to lower authority.

(D) information passing in two-way process.

37. The fundamental objective of Panchayati Raj
system is to

(A) attain decentralized and participatory local
self government.

(B) people’sparticipation and developmentin
local level.

(C) political and financial mobilization.
(D) promote financial stability.

38. Which one of the following is not a PRA
Technique?

(A) Resource mapping
(B) Venn diagram
(C) Mind mapping
(D) Transact walk

39. Which of the following sentences is true for
amplifier?

(A) It converts pressure, force into

corresponding electrical signal variations.

(B) Increase the strength of the transmitted
signal.

(C) A device that will radiate and receive
electromagnetic waves.

(D) A device converts one form of energy to
the other.

40. Rural tobacco control and prevention toolkit
belongs to which of the following communications?

(A) Education communication
(B) Health communication
(C) Industrial communication

(D) Environmental communication

X-10

36. @35 wgi@ AT @ieaie (Lateral
communication) 109 (IR

(A) Rfeafes aa IR oY BETw |
(B) Ton FYATHT ML 0 FIIGIFI |
(C) TT5s FEITHA Al O ZINGIFAe |
(D) S A Zereaae |

37. AWERS G IRRIATT YT S Z6T

(A) RSHIGS QR SLHLZTE ZIeT T F- AT
St 41 |

(B) BN WA oo-Siexiazs a2 TFIe |
(C) Aretfess ¥ Sifefs 75fe |
(D) Wi FEfeAieTel Tite 541 |

38. fseriowers W (@0 PRA (s 732
(A) ™ A=ba (Resource mapping)
(B) o< ©IAN (Venn diagram)
(C) =iES ifsik (Mind mapping)
(D) G=01E e¥% (Transact walk)

39. fasferiesfs sty @Rt #fds (Amplifier)-a3
e AT ?
(A) @fb Biot @3R 361 (Force)-& N Dkl Zﬁ@m
TS (Abare FAse T |
(B) @ (diff® Fwo-a3 #fe I 7 |
(C) @ 77 11 Sfeepwam afan feae @k aize
|

(D) @6 77 T ¢ ¥if&S ooy *ifere Feireie
|

40. A s fgd ¢ 2fsey Gafes Fafiie
(I TR IR O G ?
(A) PFIgTs AL
(B) TS TRl
(C) TiEpiRes Fls
(D) “Ifacxiors seaat



41. Whichofthe followingisnotaform of traditional
media?

(A) Radio advertising
(B) Print advertising

(C) Door to door sales
(D) E-mail marketing

42. MNREGA stands for
(A) Mahatma Gandhi National
Employment Guarantee Act

(B) Mahatma Gandhi National Regular
Employment Guarantee Act

Rural

(C) Mahatma National Rural Employment
Guarantee Act

(D) Mahatma Gandhi Nationwide Rural
Employment Guarantee Act

43. Which of the following limitation of mass
communications is true?

(A) More time is required to produce the
message.

(B) Costly for receiver
(C) Weak feedback system

(D) Success of the programme depends upon
the producers.

44. Water from the food particles in GI tract is
absorbed mainly in the

(A) Small intestines
(B) Large intestines
(C) Stomach

(D) Oesophagus

45. Forasmall room to feel larger, which one of the
following technique would not help?

(A) Use large furniture
(B) Use cool light hues
(C) Use of reflective surface

(D) Use a neutral colour scheme

X-11

23-11
41. s e @m basie aeis s
T2

(A) @ [eeioe

(B) 1% fesisi

(C) = aid [aw

(D) 3-G0 fqeetof

42. MNREGA-97 7l I

(A) Mahatma Gandhi National
Employment Guarantee Act

(B) Mahatma Gandhi National Regular
Employment Guarantee Act

Rural

(C) Mahatma National Rural Employment
Guarantee Act

(D) Mahatma Gandhi Nationwide Rural
Employment Guarantee Act

43. fTefofiResfm g T seREs T
AREeIR Gy AT Gl 2

(A) S CofF T e A TN AT |
(B) 22O Ty JRIZA

(C) a1 efeferal =zl

(D) Tl (NS A AREGH-G 897 |

44, AMICHT TR S TRJET AN (GI tract)
ETS (I oI 7l (IS 272
(A) =Faig
(B) =17
(C) ez
(D) BT

45. @3 (=IC! THCSF O (TS 7o RS (i
b gy F9E A2
(A) ICT RN I
(B) R A IIRIT
(C) efoxfrs JrerEm TR
(D) @«ifire qeefa g7
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46. Ifsame objects are repeated in the same position
along the vertical axis on either side is called

(A) Radial
(B) Symmetric
(C) Asymmetric
(D) Rhythm

47. Use of benzoic acid inhibits the activity of
which enzyme?

(A) Pectinase
(B) Lipase
(C) Decarboxylase

(D) Glucose oxidase

48. Maximum limitof antioxidant to be used in food
as per FSSAI Regulation, 2011 is

(A) 0-5%
(B) 0-02%
(©) 2:0%
(D) 0-25%

49. Limit of SO, preservative (as ppm) to be used
for fruit juice concentrate as per FSSAI Regulation,
2011 is

(A) 70
(B) 350
(C) 600
(D) 120

50. Which of the following theory says that “pectin
particles are negatively charged” in formation of jellies?

(A) Olsen’s theory
(B) Fibril theory
(C) Spencer’s theory
(D) Hinton’s theory

X-12

46. THI@UR T [T S T€H FFINS AT
Ot e ¥

(A) @G (Radial)

(B) &fea (Symmetric)
(C) wigfea (Asymmetric)
(D) =% (Rhythm)

47. @SS SRS HIRIE (@ SR e
AN 272

(A) (TS TS
(B) I3 TLHTHF
(C) TTFRERIET Terne

(D) e SRTe SLEHT

48. <t IS AR AAfe St eEe s
(Maximum antioxidant limit) FSSAI, 2011-94%
P —

(A) 0:5%
B) 0:02%
(©C) 2:0%
(D) 0-25%

49. FSSAI (2011)-43 ==IepAICE SO, A1 ARTHR
TR e bred (Preservative) &5 A (ppm)
T T(=d 9719 (Fruit juice concentrate) (¢ 2831
Tfowo—

(A) 70
(B) 350
(C) 600
(D) 120

50. ERiS @9 ©g SPIE (@l oS G
F7 @fSAI5F BIe (Pectin particles are negatively
charged) 231 ?

(A) Olsen’s theory
(B) Fibril theory
(C) Spencer’s theory
(D) Hinton’s theory



51. Which one of the following is not a barrier of
communication?
(A) Lateral Barriers
(B) Physical Barriers
(C) Cultural Barriers
(D) Organizational Barriers

52. Which one of the following is not an element of
counselling?

(A) Interview
(B) Confidence
(C) Communication

(D) Professional growth

53. Sudan dye is mainly used as adulterant in
(A) Coffee
(B) Custard Beans
(C) Paprika
(D) Tea

54. Which of the following is not an aggregate
fruits?
(A) Raspberry
(B) Strawberry
(C) Blackberry
(D) Gooseberry

55. How different are the learning theories from the
cognitive developmental theories?

(A) Their acknowledgement of unconscious
motivation and the importance of early
experiences make learning theories
different.

(B) Their focus on the way individuals learn

new behaviours makes learning theories

different.

Their influence in the field of education
and the large amount of supporting research
makes learning theories different.

©

(D) Their ability to be tested and their focus on
changes throughout the human life span

make learning theories different.

X-13 23-11

51. FsfiosE N @ FHREe-a efease w32
(A) =IR7 4 (Lateral Barriers)
(B) =I1ifs< [l (Physical Barriers)
©) W@W it (Cultural Barriers)
(D) ARSI 4 (Organizational Barriers)

52. fasfeResler Sy @t FeEfer-9a Some
T

(A) TGS (Interview)

(B) F%ces (Confidence)

(C) FRIEcIa (Communication)

(D) (oiisfe TafS (Professional growth)

53. I 7€ (Sudan dye) T (TG RETE JIHO
oy Nferide Qm afere—

(A) 3% (Coffee)

(B) %G &1 (Custard Beans)
(C) #n=ifs<t (Paprika)

(D) ®i (Tea)

54, fagfafie waefEg S @@ omifacss
(Aggregate) T 7131 2

(A) IF=IAST (Raspberry)
(B) B! (Strawberry)
(C) @S (Blackberry)
(D) G (Gooseberry)

55. I T ©§ (cognitive developmental
theories) (2 fAMIoga (learning theories) *Ne< 251
(A) A ofCwEed ey 4R SIS0 Sl
RO 52 T (oI |

(B) @ “&(STS 2TOIE e BEG 5107 FACO
(I3, OIeE @y fica vpree for 2@ €|
(C) Fritee g3 ©iF AT R oiae=

8T 2ol RMTogeE 5945 0 (e |
(D) ST FAF THTS! GR WK G
s vy e Rwpreg fon 2@ ew |
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56. Mr. Ron is 67 years old. He is suffering from
memory loss and takes longer time to complete normal
daily tasks. He also repeats same act and often loses his
belongings or misplaces them. What cognitive disease
does Mr. Ron have?

(A) Diabetes

(B) Cushing’s Syndrome
(C) Osteoporosis

(D) Alzheimer’s disease

57. Shanis a7 years old boy with special needs. He
is an impulsive child who has some problems in
communication and emotional behaviour. Identify the
disease of the boy.

(A) Early onset dementia

(B) Cerebral palsy

(C) Autism Spectrum Disorder (ASD)
(D) Muscular Dystrophy (MD)

58. In which direction does the development
proceeds during the prenatal phase:

(A) Proximodistal principle
(B) Orthogenetic principle
(C) Principle of hierarchical integration

(D) Cephalocaudal principle

59. Which one of the following is not included in
family welfare programme?

(A) Family planning information, counselling
and services to women for healthy
reproduction

(B) Home Bills and expenditure
(C) Vaccination

(D) Prevention and treatment of sexually
transmitted and reproductive treatinfection

60. Mr. Jonny Depp is 45 years old, he considers to
develop a genuine concern for the welfare of future
generations and to contribute to the world through
family and work. According to Erik Erikson, this stage
in adult development is known as

(A) Integrity vs. Despair

(B) Generativity vs. Self-absorption
(C) Ego identity vs. Role confusion
(D) Identity vs. Role confusion

X-14

56. Mr. Ron-43 931 67 929, Hfexife g sles
IR S AR F RPN 20 240w | fofv @53
oI RIS I AR @3k e w3y 2 e
2] BB FF AE | T @i ifas w2

(A) ©IEG (Diabetes)

(B) Jif*ix31 1IN (Cushing’s Syndrome)
(C) SFHETATAIPM (Osteoporosis)

(D) SHieTezsd @9l (Alzheimer’s disease)

57. *Iq 9FG S IR foReI@ 7w e | A9l
AT I (1 (I AR QI NI SGCET TI
IBRaEH

(A) Early onset dementia

(B) Cerebral palsy

(C) Autism Spectrum Disorder (ASD)
(D) Muscular Dystrophy (MD)

58. feiCbIE Wi el Repieeia wielelfe 90 2
(A) 2S5 TS (Proximodistal principle)
(B) Stamb Nife (Orthogenetic principle)

(C) S@ERF @539 «ife (Principle of
hierarchical integration)

(D) TFCEAIFEI s (Cephalocaudal

principle)
59, fsfafee @A slifsaifas Taam 2<em Teve
ChE

(A) AR 2 o, FPFT AT &)
SRAWE G @R ToAm= 2wie

(B) ~IifFaifs= 5%

(C) fozieze

(D) I @G3R A ed A Ay @)
IR

60. & o1 (Tt (Jonny Depp)-a3 7831 45 723 | fsfa
SRS AGCA 2Fo K0T 2 Trrol dwi wae @)
AT ¢ FEF NGE Tlofed S_qWi (&2 @CS Bin |
G5 G WO AU KA @2 21w ==

(A) TAYS] I ToM!
(B) Tesflerlers! qais Sig-coiRel
(C) iz ifp7 T gl [Raife

(D) e3¢l I giv [KElf®
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61. (I &S 7 GFe G YT Ol G5 -
(MDA SETRCR AL STl T AT 2

(A) MATLAB
(B) Standardized test

(C) Naturalistic observation

61. Which measure allows a researcher to compare

one person’s score with the score of a large group of
similar persons?

(A) MATLAB
(B) Standardized test

(C) Naturalistic observation

(D) Case control study
(D) Case control study

62. Toachieve our goals with limited resources, we
have to follow a systematic method. Management does
not involve which of the following steps?

62. S AW Ny o1 G FACO (I 9o
e e s Seprae Face 27 | g sifpemefera

i (EEIB) W& (FIAG G 72 2
ig; lglanm'ng o o
rganizing v ﬁﬁiiﬂ
(C) Controlling (B) sioaiieTo!
(D) Complaining (C) el
(D) wifewal

63. Marital success depends chiefly upon traits of

63. (3IfE ATy 2yiTe (@ha Tow Foq e e
(A) @ 9k Ifey

(A) character and personality

B

(B) financial status (B) =¥ i<zl

(C) goals and aspirations (C) =T @R SFI&H
(D) ancestry (D) 3% A%

64. In coconut oil which one of the following is the
prime fatty acid?

64. F0 TFEE (ST 24 T Sritre 2

(A) Palmitic acid ((;:; m
(B) Caproic acid )

(C) Butaric acid © ISCRIGEACHIFEN
(D) Lawric acid (D) =S Syite

65. From the intestine glucose is absorbed by the
mechanism of

(A) Simple diffusion

65. T (A @S @ i g ifee 232
(A) PrIor fSpei

(B) Facilitated diffusion
(C) Sodium co-transport
(D) Receptor-mediated endocytosis

(B) 7&e &Kl fSFeHia (facilitated diffusion)
(C) ENGAN @-GePTsiE’
(D) WS GICeHIRGIEH
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66. Find activation of vitamin D; requires the help
of:

(A) Sunlight

(B) Kidney

(C) Liver

(D) Kidney and Liver

67. The SI unit for measuring luminous intensity of
light is:

(A) Stilib
(B) Candela
(C) Ampere
(D) Kelvin

68. A serious disease caused by the excessive
drinking of alcohol is:

(A) Blue baby syndrome
(B) Kawasaki disease
(C) Cirrhosis

(D) Hemolytic anemia

69. A diet high in saturated fat is linked to which
disease?

(A) Cardiovascular disease
(B) Anorexia

(C) Liver cirrhosis

(D) Renal failure

70. During prolonged starvation, brain uses
as the primary energy source.

(A) glucose

(B) ketone bodies
(C) amino acids
(D) fats

X-16

66. fSOIRM D, AfGTFACER G (FIF0 AR I 2
(A) e
(B) el
(€) TP
(D) foefd @3z TP

67. SI TOWG TT8fH@™ (Luminous) M@ Siaet
RIERIDIGREES

(A) Stilib
(B) Candela
(C) Ampere
(D) Kelvin

68. SIfSe IR T @ AN @R TSI
= (I 2o:
(A) Blue baby syndrome
(B) Kawasaki disease
(C) Cirrhosis
(D) Hemolytic anemia

69. (@ <t 257 ARSI o) 5 AT, G2 4
Qg (el WEfeie @ a@ee opge 23 e

(A) Cardiovascular disease
(B) Anorexia

(C) Liver cirrhosis

(D) Renal failure

70. TR SR T
“feq T R 9= FE |

(A) gl
(B) f&oE 3f
(C) =y =P

Al

(D) w6



71. Which one of the following statements is
incorrect related to the smoking affected breast-feeding
mother?

(A) Altered composition of breast milk
(B) Supressed milk production

(C) Increases the risk of early cessation of
breast feeding

(D) Increase in IgE concentration

72. Calculate the BMI for a 190 pound person with
5ft. 11 inch. tall. If he loose/gains extra weight of
pound, the BMI range will fall within

overweight range.

Note: Overweightrangeis27-81-31-10 for men.
(A) 6
B) 32
(©) 35
D) 37

73. The enzyme not used for scouring is
(A) Cellulase
(B) Pectinase
(C) Amylase
(D) Lipase

74. The purpose of carbonization of wool fibres is to
remove:

(A) waxy matter
(B) surface scales
(C) vegetable matter
(D) ortho cortex

75. Enzyme responsible for converting pectin into
pectic acid is

(A) Pectinase

(B) Proto-pectinase

(C) Pectic Methyl Esterage (PME)
(D) Poly Galucturonase

X-17
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71. FRiReRER T @b gt @ gHe-gelie
TR MRS Tl 2o (e 2

(A) IEF TR AARTATES sioe

(B) I A T3 GV

(C) Bl Orereife 75 2ex I qrer
(D) IgE 99 Jf=

72. €F G AF €T 190 2IITT @R THS! 5 Fo
11 3, ©ix 3fT W57 Z0es (Body Mass Index) et
A1 14 Ve e AT wfofie o 1%/
T I, OIFEF O BMI, Overweight JE & 03 |

TEY @ 9FRI BMI-EF Overweight sl
27-81-31-101

(A) 6

(B) 32

(©) 35

(D) 37

73. @ 5T S50 Scouring Awfee I7ZTe
W AI?
(A) @teJeeTer (Cellulase)
(B) (#IplbeTer (Pectinase)
(C) SyIEETE (Amylase)
(D) sEeos (Lipase)

74, TEF OGF IHARPACT SRl 25

v |
(A) IS &SI #wtef
(B) “foresiy Sifst
(C) Tfew miel
(D) w1f FGH (ortho cortex)

75. fsfeie @M SerEmEa w5 i
N ﬁwﬂiﬂw@iﬁ?

(A) oIOee (Pectinase)
(B) (AG-(?FLeTer (Proto-pectinase)

(C) =156 fNAZe @IS (Pectic Methyl
Esterage)

(D) #IfeT (AAIRPBIRIES (Poly Galucturonase)
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76. Which colour symbolizes health, new beginning
and wealth and is also used for relaxation and creating
balance in the design?

(A) Pink
(B) Brown
(C) Grey
(D) Green

77. Burning of fossil fuels releases what oxides of
nitrogen?
(A) Nitric oxide and Nitrogen dioxide
(B) Nitrogendioxide and Dinitrogen pentaoxide
(C) Dinitrogen trioxide and Nitric oxide

(D) Dinitrogen pentaoxide and Nitrous oxide

78. Ergonomic experts attempt to improve the
of work stations, equipment and procedures
in order to reduce injury and suffering.

(A) cost
(B) space
(C) design
(D) flow

79. Fromthecrystal symmetry perspective ordinary
ice belongs to which class of hexagonal system?

(A) Dihexagonal bipyramidal
(B) Trihexagonal bipyramidal
(C) Ditetragonal bipyramidal
(D) Tritetragonal bipyramidal

80. Which of the following tests is used for
measuring non-reducing sugar concentration?

(A) Folin’s test

(B) Dinitrosalicyclic acid test
(C) Bradford’s test

(D) Grignard reagent test

X-18

76. (I I FFF, TG ool AR T fofers
aR ez e SeReme ¢ e e a<ze
=37

(A) ol (Pink)
(B) Imifsl (Brown)
(C) ¥ (Grey)
(D) 5= (Green)

77. QRN GIENET WS TIRGETEE @ SR
ICRCEGE:

(A) T TS € AREIS TROZE

(B) TGS CRSRIRT S CRHIREISH (oS
(C) UG GO ¢ TG w9igy
(D) TRARGIEH (FHHTT @ T2HP SHZT

78. SIS € AT 2 FA Sl GFG Ergonomic
Reme U 2PIcE A9GN S LAl AR 2T FACS
A 2

(A) =1
(B) @il
(©€) oA
(D) 2d1Z

79. e ITTF ITEEFIF PIEEER @ @fia %
Af SR wrefe 2

(A) TR qRHHaiReE
(B) GRESaINE i
(C) TiZmgIsiaE ARfafee

(D) GREGGIIE IRHaiiel

80. F-ATTTHR w1 wAfawiest @i #1351 Tz w41
?
(A) Ifere o1
(B) ©RABGIFERIRES Sife A5
(C) ATHIC 21!
(D) fasi1S s o1




81. Cane Jaggery is a good source of:
(A) Vitamins and Zinc
(B) Proteins and Nickle
(C) Fats and Proteins
(D) Carbohydrates and Minerals

82. Double acting dobby is driven from
(A) Bottom shaft
(B) Crank shaft
(C) Tappet shaft
(D) Rocking shaft

83. Sodium persulphate (Na,S,0y) is used for
(A) Bleaching
(B) Scouring
(C) Mercerization

(D) Designing

84. Which amino acid is responsible for relatively
higher wet strength in wool fibre?

(A) Threonine
(B) Serine

(C) Cysteine
(D) Tyrosine

85. Acrylic fibre is made from at least 85% by
weight of

(A) Acrylic Acid
(B) Acrylonitrile
(C) Acrylamide
(D) Methyl methacrylate

X-19
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81. T w1ed Ny WFIe @« St AIwE
@M S e Qe

(A) TobifE = for=

(B) &AM @3 e

(C) vF @3 2w

(D) FIEZZG @ e

82. @b (e @@ T (Dobby) vifite =W
TOF |
(A) 95 we (Bottom shaft)
(B) ¥ %% (Crank shaft)
(C) (GG we (Tappet shaft)

(D) 991 7 (Rocking shaft)

83. ANCA ARAFATS (Na,S,0;) IJIZT© 2T
g G |

(A) fafor (Bleaching)

(B) = (Scouring)

(C) SRIRCE™i (Mercerization)
(D) feei@fR (Designing)

84. @ S SHFTEl A ved SarwFe St
TSl 403 AR S W 2

(A) e (Threonine)
(B) @fa= (Serine)

(C) PP%S (Cysteine)
(D) BREI™E (Tyrosine)

85. Iifelers og 2ufors eow S WERkiRe i
AP 85% WAL 2 2

(A) SRR =HPS (Acrylic Acid)

(B) SIf&sIIZG1241 (Acrylonitrile)

(C) nif@enize (Acrylamide)

(D) TI2i3e (NAGIRETE (Methyl methacrylate)
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86. Cottonisstronger whenitis wet. This is because
of

(A) Crystalline fibre

(B) Hydrophilic in nature
(C) Cellulose layer

(D) Hydrophobic in nature

87. Which of the following is aregenerated protein?
(A) Casein
(B) Hair
(C) Wool
(D) Silk

88. Stains removal cannot be performed by which
of the following methods?

(A) Dipping
(B) Sponging
(C) Steaming
(D) Drying

89. Which of these is not a sweat resistant fabric?
(A) Polyester
(B) Rayon
(C) Bamboo
(D) Cotton blend with lycra

90. Which of the following fibres can be confirmed
by performing microscopic test?

(A) Silk
(B) Wool
(C) Nylon
(D) Acrylic

X-20

86. I SIY LTI SIS S (G2 /SIslelia] |
Txffee @W T e sz ke

(A) 034 O (Crystalline fibre)
(B) T@%a! (Hydrophilic in nature)
(C) Gefcemer WS (Cellulose layer)

(D) &« et (Hydrophobic in nature)

§7. FrFRosRE i @RE et @b we

(Regenerated protein fibre) ?
(A) &
(B) &=
(C) Te
(D) F=

88. T @ “wfe il wisl (@70 = w1 AR
qre

(A) Dipping
(B) Sponging
(C) Steaming
(D) Drying

89. FfeiRewlem T @ Sriaa am afermamat
0@ 7 ?

(A) #RTEPSE (Polyester)

(B) (334 (Reyon)

(C) F (Bamboo)

(D) Jeifif#® #ig (Cotton blend with lycra)

90. fwfeiioulem S &N web St qEE
AR AKHIR Al ez =1 a2

(A) G (Silk)

(B) #MIs1 (Wool)

(C) «igeT (Nylon)
(D) &R (Acrylic)



91. Finest textile strand among the following:

(A) 40s Ne
(B) 40 tex
(C) 40 denier
(D) 40s Nm

92. Emulsifying agent found in food is
(A) Casein
(B) Caffein
(C) Trypsin
(D) Gluten

93. Dissolving salt in water is an example of
(A) Decrease of Entropy
(B) Increase of Entropy
(C) Decrease of Enthalpy
(D) Increase of Enthalpy

94. Among the following which one of the
microorganisms can grow over a wide range of pH?

(A) Bacteria only

(B) Bacteria and fungi
(C) Fungi only

(D) Yeast and Molds

95. Baking soda is chemically known as
(A) Potassium hydroxide
(B) Sodium hydroxide
(C) Sodium chloride

(D) Sodium bicarbonate

X-21

qAR?

9.
Al ?

93.
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91. xS @A THey vg?

(A) 40s Ne
(B) 40 tex
(C) 40 denier
(D) 40s Nm

92. @ufea Wy @WT W TEARTERL et e

(A) PR
(B) it
(€) Toifm
(D) 45

GE R wdge e |
(A) @=Gf! (Entropy) 311 #If
(B) @G (Entropy) 3% i
(C) @=i9&(#l (Enthalpy) g1 #i1¥
(D) @=&(# (Enthalpy) Jf&

e @ im wga g pH #Ife1@ i colte

(A) &y RGN

(B) IR @R 2qIF
(C) v§2 zal®

(D) Yeast and Molds

95, @R el ITHFSIE @ Jiw «iffow?

(A) i 2RCgEze
(B) o1 2iErgmaize
(€) e @RZs

(D) eSS ABFICEEG
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96. The food that can be best enhanced for iron
absorption in the body is:

(A) Coffee
(B) Milk
(C) Egg
(D) Orange

97. Which one of the following is not an example of
non-enzymatic browning of food?

(A) Caramelization of sugar
(B) Browning of citrus fruits
(C) Baked foods

(D) Browning of banana

98. Rancidity of plant lipid rich food is generally
because of

(A) reduction of saturated fatty acid.

(B) hydrogenation of unsaturated fatty acid.
(C) oxidation of saturated fatty acid.

(D) polymerization of saturated fatty acid.

99. Whichof'the followingis notunder the Integrated
Child Development Service (ICDS) scheme?

(A) Supplementary nutrition

(B) Immunization

(C) Family planning

(D) Nutrition and health education

100. The concept of welfare is basically related to
(A) Health of an individual
(B) Economical stability
(C) Longevity
(D) Quality of life

X-22

96. ¥ =TI (Iron) IR T (T A AL (AT
@ St i—

(A) I

(B) 74

(C) fox

(D) AT

97. ke Sriggee i s @ @G T -gTaREne
ArSf: (Non-enzymatic browning) 7132

(A) Tfem w=iftEREe

(B) AlRGRT TR MG

(C) (33T QI (Baked foods)
(D) F-7 ArefR

98. Mm RIEA Sfewma forfoite @afifeha w=e
BIKIECS

(A) e I Sitices gH |
(B) SPT~& I SUIfed 2R gItee™i |
(C) & Wil =ikies &ie (Oxidation) |

(D) & TIIb embies sfizee
(Polymerization) |

99, Fitha (@0 FNfEe e TEww 2F@F (ICDS)
S T2

(A) > A

(B) Tor=rael

(C) iz “fm=
(D) % @32 T

100. IR Q=6 3pTe @7 A FolfFo—
(A) e Ay A TFe
(B) =N fefesiiers
(C) g
(D) GR=R@R 7w



X-23 23-11
Space for Rough Work



23-11 X-24
Space for Rough Work




 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.250 inches / 202.0 x 260.3 mm
     Action: Make all pages the same size
     Scale: No scaling (crop or pad)
     Rotate: Never
      

        
     D:20221102142250
      

        
     AllSame
     0
            
       D:20210804155533
       738.0000
       ctp-pdf
       Blank
       572.5984
          

     Tall
     1
     1
     294
     147
     qi4alphabase[QI 4.0/QHI 4.0 alpha]
     None
     None
     0.9500
            
                
         AllDoc
              

       CurrentAVDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     24
     23
     24
      

   1
  

    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.144 inches / 202.0 x 257.7 mm
     Action: Make all pages the same size
     Scale: Scale width and height equally
     Rotate: Clockwise if needed
      

        
     D:20221208152944
      

        
     0
            
       D:20221208124259
       730.3465
       SET_MACHINE
       Blank
       572.5984
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     Uniform
            
                
         AllDoc
              

       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     24
     23
     24
      

   1
  

    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.250 inches / 202.0 x 260.3 mm
     Action: Make all pages the same size
     Scale: Scale width and height equally
     Rotate: Clockwise if needed
      

        
     D:20221208152944
      

        
     0
            
       D:20210804155533
       738.0000
       ctp-pdf
       Blank
       572.5984
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     Uniform
            
                
         AllDoc
              

      
       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     24
     23
     24
      

   1
  

 HistoryList_V1
 qi2base





